Linear relation CIELAB ( L*, a*, b*) and adapted (QCIELAB (C*4p a L¥)
Television Luminous System: TLS52a = (L% = L% )/ (L* - L*
lab* = ( ND /L w-LoN)

a*a =a*

* — *
CIELAB hue anglesRYGCBM: b*a=b : :
hab,d = [24, 105, 140, 197, 297, 327], Ctapa=[a%2 +b*2]
hape= [26, 92, 162, 217, 272,329] ~ &

1/2
A

a*3 = C*3p,a COS hyp
b*a = C*ap,aSin hyy

chroma a*,

Similar to contrast step Gyp,
according to ISO 9241-306, see

CIELAB data and Y for W and N:
(L*, a*, b*, Y)=(95.41, 0.0, 0.0, 88.59
(L*, a*, b*, Y)\=(52.02, 0.0, 0.0, 20.16




